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2d = 0.080 м;
2d = 0.080 м;
2d = 0.080 м;
2d = 0.080 м;
2d = 0.080 м;
2d = 0.080 м;
2d = 0.080 м;
2d = 0.080 м;
2d = 0.080 м; L = 45 м L = 45 м L = 45 м
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м
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2d = 0.200 м;
2d = 0.200 м;
2d = 0.200 м;
2d = 0.200 м;
2d = 0.200 м;
2d = 0.200 м;
2d = 0.200 м;
2d = 0.200 м;
2d = 0.200 м; L = 57 м L = 57 м L = 57 м

 L = 57 м L = 57 м L = 57 м L = 57 м
 L = 57 м L = 57 м

2d = 0.070 м;
2d = 0.070 м;
2d = 0.070 м;
2d = 0.070 м;
2d = 0.070 м;
2d = 0.070 м;
2d = 0.070 м;
2d = 0.070 м;
2d = 0.070 м; L = 56 м L = 56 м L = 56 м L = 56 м L = 56 м L = 56 м L = 56 м L = 56 м L = 56 м

2d
 =

 0
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;
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м
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м
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м
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м

2d = 0.100 м;
2d = 0.100 м;
2d = 0.100 м;
2d = 0.100 м;
2d = 0.100 м;
2d = 0.100 м;
2d = 0.100 м;
2d = 0.100 м;
2d = 0.100 м; L = 125 м L = 125 м L = 125 м

 L = 125 м L = 125 м L = 125 м L = 125 м
 L = 125 м L = 125 м

2d = 0.080 м;
2d = 0.080 м;
2d = 0.080 м;
2d = 0.080 м;
2d = 0.080 м;
2d = 0.080 м;
2d = 0.080 м;
2d = 0.080 м;
2d = 0.080 м; L = 60 м L = 60 м L = 60 м

 L = 60 м L = 60 м L = 60 м L = 60 м
 L = 60 м L = 60 м

2d = 0.040 м;2d = 0.040 м;2d = 0.040 м;2d = 0.040 м;2d = 0.040 м;2d = 0.040 м;2d = 0.040 м;2d = 0.040 м;2d = 0.040 м; L = 95 м L = 95 м L = 95 м L = 95 м L = 95 м L = 95 м L = 95 м L = 95 м L = 95 м

2d = 0.200 м;
2d = 0.200 м;
2d = 0.200 м;
2d = 0.200 м;
2d = 0.200 м;
2d = 0.200 м;
2d = 0.200 м;
2d = 0.200 м;
2d = 0.200 м; L = 70 м L = 70 м L = 70 м

 L = 70 м L = 70 м L = 70 м L = 70 м
 L = 70 м L = 70 м

2d = 0.200 м;

2d = 0.200 м;

2d = 0.200 м;

2d = 0.200 м;

2d = 0.200 м;

2d = 0.200 м;

2d = 0.200 м;

2d = 0.200 м;

2d = 0.200 м; L = 70 м
 L = 70 м
 L = 70 м
 L = 70 м
 L = 70 м
 L = 70 м
 L = 70 м
 L = 70 м
 L = 70 м

2d = 0.070 м;
2d = 0.070 м;
2d = 0.070 м;
2d = 0.070 м;
2d = 0.070 м;
2d = 0.070 м;
2d = 0.070 м;
2d = 0.070 м;
2d = 0.070 м; L = 84 м L = 84 м L = 84 м

 L = 84 м L = 84 м L = 84 м L = 84 м
 L = 84 м L = 84 м

2d
 =

 0
.1

25
 м

;

2d
 =

 0
.1

25
 м

;

2d
 =

 0
.1

25
 м

;

2d
 =

 0
.1

25
 м

;

2d
 =

 0
.1

25
 м

;

2d
 =

 0
.1

25
 м

;

2d
 =

 0
.1

25
 м

;

2d
 =

 0
.1

25
 м

;

2d
 =

 0
.1

25
 м

; L
 =

 5
5 
м

 L
 =

 5
5 
м

 L
 =

 5
5 
м

 L
 =

 5
5 
м

 L
 =

 5
5 
м

 L
 =

 5
5 
м

 L
 =

 5
5 
м

 L
 =

 5
5 
м

 L
 =

 5
5 
м

2d
 =

 0
.0

82
 м

;
2d

 =
 0

.0
82

 м
;

2d
 =

 0
.0

82
 м

;
2d

 =
 0

.0
82

 м
;

2d
 =

 0
.0

82
 м

;
2d

 =
 0

.0
82

 м
;

2d
 =

 0
.0

82
 м

;
2d

 =
 0

.0
82

 м
;

2d
 =

 0
.0

82
 м

; L
 =

 1
43

 м
 L

 =
 1

43
 м

 L
 =

 1
43

 м
 L

 =
 1

43
 м

 L
 =

 1
43

 м
 L

 =
 1

43
 м

 L
 =

 1
43

 м
 L

 =
 1

43
 м

 L
 =

 1
43

 м

2d = 0.100 м;
2d = 0.100 м;
2d = 0.100 м;
2d = 0.100 м;
2d = 0.100 м;
2d = 0.100 м;
2d = 0.100 м;
2d = 0.100 м;
2d = 0.100 м; L = 53 м L = 53 м L = 53 м

 L = 53 м L = 53 м L = 53 м
 L = 53 м
 L = 53 м L = 53 м
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2d = 0.200 м;

2d = 0.200 м;

2d = 0.200 м;

2d = 0.200 м;

2d = 0.200 м;

2d = 0.200 м;

2d = 0.200 м;

2d = 0.200 м;

2d = 0.200 м; L = 76 м

 L = 76 м

 L = 76 м

 L = 76 м

 L = 76 м

 L = 76 м

 L = 76 м

 L = 76 м

 L = 76 м

2d = 0.200 м;
2d = 0.200 м;
2d = 0.200 м;
2d = 0.200 м;
2d = 0.200 м;
2d = 0.200 м;
2d = 0.200 м;
2d = 0.200 м;
2d = 0.200 м; L = 400 м

 L = 400 м L = 400 м
 L = 400 м
 L = 400 м L = 400 м
 L = 400 м
 L = 400 м L = 400 м
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2d = 0.100 м;
2d = 0.100 м;
2d = 0.100 м;
2d = 0.100 м;
2d = 0.100 м;
2d = 0.100 м;
2d = 0.100 м;
2d = 0.100 м;
2d = 0.100 м; L = 62 м L = 62 м L = 62 м

 L = 62 м L = 62 м L = 62 м L = 62 м
 L = 62 м L = 62 м
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2d = 0.200 м;2d = 0.200 м;2d = 0.200 м;2d = 0.200 м;2d = 0.200 м;2d = 0.200 м;2d = 0.200 м;2d = 0.200 м;2d = 0.200 м; L = 136 м L = 136 м L = 136 м L = 136 м L = 136 м L = 136 м L = 136 м L = 136 м L = 136 м

2d = 0.150 м;
2d = 0.150 м;
2d = 0.150 м;
2d = 0.150 м;
2d = 0.150 м;
2d = 0.150 м;
2d = 0.150 м;
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2d = 0.150 м; L = 22 м L = 22 м L = 22 м L = 22 м L = 22 м L = 22 м L = 22 м L = 22 м L = 22 м

2d = 0.040 м;
2d = 0.040 м;
2d = 0.040 м;
2d = 0.040 м;
2d = 0.040 м;
2d = 0.040 м;
2d = 0.040 м;
2d = 0.040 м;
2d = 0.040 м; L = 56 м L = 56 м L = 56 м L = 56 м L = 56 м L = 56 м L = 56 м L = 56 м L = 56 м

2d = 0.207 м;
2d = 0.207 м;
2d = 0.207 м;
2d = 0.207 м;
2d = 0.207 м;
2d = 0.207 м;
2d = 0.207 м;
2d = 0.207 м;
2d = 0.207 м; L = 77 м

 L = 77 м
 L = 77 м
 L = 77 м
 L = 77 м
 L = 77 м
 L = 77 м
 L = 77 м
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2d = 0.125 м;
2d = 0.125 м;
2d = 0.125 м;
2d = 0.125 м;
2d = 0.125 м;
2d = 0.125 м;
2d = 0.125 м;
2d = 0.125 м; L = 128 м

 L = 128 м
 L = 128 м
 L = 128 м
 L = 128 м
 L = 128 м
 L = 128 м
 L = 128 м
 L = 128 м

2d = 0.050 м;
2d = 0.050 м;
2d = 0.050 м;
2d = 0.050 м;
2d = 0.050 м;
2d = 0.050 м;
2d = 0.050 м;
2d = 0.050 м;
2d = 0.050 м; L = 105 м L = 105 м L = 105 м

 L = 105 м L = 105 м L = 105 м L = 105 м
 L = 105 м L = 105 м

2d = 0.125 м;
2d = 0.125 м;
2d = 0.125 м;
2d = 0.125 м;
2d = 0.125 м;
2d = 0.125 м;
2d = 0.125 м;
2d = 0.125 м;
2d = 0.125 м; L = 540 м

 L = 540 м
 L = 540 м
 L = 540 м
 L = 540 м
 L = 540 м
 L = 540 м
 L = 540 м
 L = 540 м

2d = 0.050 м;
2d = 0.050 м;
2d = 0.050 м;
2d = 0.050 м;
2d = 0.050 м;
2d = 0.050 м;
2d = 0.050 м;
2d = 0.050 м;
2d = 0.050 м; L = 55 м L = 55 м L = 55 м

 L = 55 м L = 55 м L = 55 м L = 55 м
 L = 55 м L = 55 м

2d = 0.250 м;2d = 0.250 м;
2d = 0.250 м;2d = 0.250 м;2d = 0.250 м;
2d = 0.250 м;2d = 0.250 м;2d = 0.250 м;
2d = 0.250 м; L = 90 м L = 90 м L = 90 м L = 90 м L = 90 м L = 90 м L = 90 м L = 90 м L = 90 м

2d = 0.050 м;2d = 0.050 м;2d = 0.050 м;2d = 0.050 м;2d = 0.050 м;
2d = 0.050 м;2d = 0.050 м;2d = 0.050 м;2d = 0.050 м;

2d = 0.050 м;
2d = 0.050 м;
2d = 0.050 м;2d = 0.050 м;
2d = 0.050 м;
2d = 0.050 м;
2d = 0.050 м;2d = 0.050 м;
2d = 0.050 м;

Тепловая сеть от котельной "СЛИП".

М 1:2000


